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Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks

for the questions.

Q. No. 1 carries 1 mark each
1 (a)
1 (b)
1 (0

Q. Nos. 2-6 carry 2 marks each
Q. Nos. 7-11 carry 3 marks each
Q. Nos. 12-18 carry 5 marks each

Q. Nos. 19-22 carry 8 marks eacl’

1x4 =
1x2 = 2
1x2 = 2
2x5 = 10
3x5 = 15
5x7 = 35
8x4 = 32
Total =100
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1.~ (a)

(b)

28T ACOU

Fill in the blanks with appropriate word/words : 1x4=4
Toige #AE Al 9B 7Re T4 8

(i) The interest due to the retiring partner is transferred to his
account in case it is not paid immediately.

PR R 9T SHTIE ARSEIR 5 I Ol O 2w 54t
T, (9% O HHIRA (oeq 2pioitsT Zinies 1 T |

(ii) A partner acts as of the firm.

G IR AT qe =51t I FE |

(i) In case of fixed capital, a partner’s capital account always
showsa____ balance.

IR TR (FIS, GG SRAMIE Foree Roist i Tge
T4 |

(iv) Unrecorded assets when realised are credited to

Account.

4 2|

Choose the correct alternative : 1x0=7

w7 ©Ed A = ¢

(i) Balance Sheet shows :

e (T 8

(1) Financial position of a company

U ek DI ACIREAS R

(2) Profit and Loss of a company

qBl I FS-(AREDH

b

[2]



(c)

08T ACOU

(3) Cash flow of a company
<5l (FANR 9% 479 2[iE

(4) All of the above.
@ORT (AT (LD |
(it} Financial statements are :
RS Riqfomm 27 ¢
(1)  Detailed reports of the recorded facts.
TRee wuERe fgs 2o |
(2)  Detailed reports of the cash transactions only.
(TG 57 (FTe T2 [go aAfSrans |
(3) Summarised reports of recorded facts.
e e HefEe e |
(4) Summarised reports of the financial institutions only.
ERETIE [ AfevirTes FiEwe e |
State whether the following statements are true or false :  1x2=)
woTd ATNFL FS 9% (7 o7 &7 2
(i) Interest on Partner’s Capital is credited to Partners’ Drawings
Account. :
TRAIE o4 @siae [wal o EIMRE 2T Zhivfe (Feh @
3 | |

(i) Life membership fee is a Revenue receipt.

G T e B AR S 2l |



State any two features of a not-for-profit organisation.

%)

3.  What is a Common Size Statement ?

T ot I [ 9ot

4. Mention any two distinctions between shares and debentures.

SR¥AT I Y7GT AGre A0 P 7o) #1ey S w4 |

What do you mean by Forfeiture of shares ?

RN eI e [ g

o1

6. What do you mean by Comparative statement ?

T aferane Ifeet & 3l e

7. Explain the meaning of Cash Flow from Financing Activities.

‘et FrhaoR o[l Tom 2417 =i G =g
OR/ Tz

From the following information, calculate Stock Turnover Ratio -

e R 71 ety e Seite e ) o

Sales () = 2 4,00,000/-
Average Stock (91C qe9i) = 3 55,00
Gross Loss Ratio (I9 (FRBIA Sjoifs) = 109,

28T ACOU [4]



8.  Mention any three objectives of financial statement analysis.

e dferana Rraacs RemE (&b T S 3594

OR/ A&
Briefly explain the nature of financial statements.

e eferwerza el ke e 3 |

9. - Mention any three limitations of financial statements.

SN fsE@veR Rz o Saas Srad 4 |

OR/ 72

Explain the meaning of Ratio Analysis.

e farsae w2 e 4 |

10. Mention any three distinctions between Fund-based Accounting and Non-

fund-based Accounting,. 3

offer-fofem festeiead v w-<ffer-fefes RoviewR s < R omb

ofjefaRy CrE F4 |
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OR/ 7=t
What do you mean by Income and Expenditure Account ?

S S A3 Zpisl IemE & e

11. Amar and Bahadur are partners of a firm sharing profits in the ratio of
3:2. They admit Mery as a new partner for ¥ th share in the future profits.

The new profit sharing ratio between Amar and Bahadur is agreed to be

2:1. Calculate their sacrificing ratio. 3

ST I AR 312 AT A1 qonaa | G2 oot S | (SR 5ired
Yy OO AR (R e i Boitel ©f8 0 | ShR S A1gvEs Wee T

FST ©H 29 211 | (OSTERRT Gioi SATS [ w4

OR/ AZ!

Ranjana, Sadhana and Kamona are partners sharing profits in the ratio of
4:3:2. Ranjana retires and Sadhana and Kamona agree to share futyre

profits in the ratio of 5:3. Calculate the gaining ratio. 3

@, AL NE B 4:3:2 SHANTS FH© IO 1 SR | é@iﬂ? SRAR w7,
Tl T BEIR SRS 5:3 THATS S Tor R Fas o IS Freq

SEle Aol & |
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12. From the following Receipts and Payments Account for the year ended
21st March, 2017 and other details of KAZIRANGA SPORTS CLUB,
prepare an Income and Expenditure Account for the year ended 31st

March, 2017 :

2,

31 S, 2017 Sifrd T@eial IR AR oo mal KAZIRANGA SPORTS
CLUB= Sl ©Ii< €5 f2bi7l s Sy ©AF 791 31 b, 2017 Sius S+«
JFEGE AE A< Rl 20 F4 ¢

Receipts and Payments Account

Tl i< 495 fZoiel

Receipts (&) @) Payments (2<5) ()
Cash in hand on 01.04.16 10,000 | Salaries (V<=12]) 8,000
(01.04.16 OISO 0T 4 A7 ) Honorarium (ST741) 5,000
Subscriptions : Sports Expenses 2,000
(Feh) 2 (2T <)
2015-16 : 1,000/-
H / Rent (S1) 3,000
2016-17 : 30,000/- '
201718 : 2,000/- Travelling Expenses 2,000
33,000 (O ¥®)
Donation (7i) 7,000 | Purchase of Furniture 35,000
Interest (79) 3,000 | (SIoIR =F)
Donation for Buildings 10,000 | Cash in hand on 31.03.17 15,000
(S99 A ) (31.03.17 ©iffCd T@6 41 F6 1)
[ife Membership Fees 7,000
(@r\gﬁaﬂ 7] HH)
70,000 70,000
]
[7] Contd.
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Additional Information :
W%‘[%@ 9L 3
(i) Outstanding Salarie;q = 2,000/-
[GRERIHRGEEY
(i) Prepaid Rent = 1,000/~
G 27 S|
OR/ A

Explain the steps in preparation of Income and Expenditure Account. 5

G-<7Y 25l dwe FENT Feel ATEEARE T 9 |

13. - Charles Ltd. made a profit of 2 1,00,000/ - after charging depreciation of 2
20,000/-on assets and a transfer to general reserve of ¥ 30,000/-. The
goodwill written off was Z 7,000/- and gain on sale of machinery was ¥
3,000/-. Other information available to you (changes in the value of
current assets and current liabilities) are : debtors showed an increase of
2 6,000/-; creditors an increase of 2 10,000/-; prepaid expenses an increage
of 200/ -; bills receivable a decrease of 2 3,000/-; bills payable a decreage
of 2 4,000/- and outstanding expenses a decrease of Z 2,000/ -.

Ascertain cash flow from operating activities. 5
blefe FRTGE 20,000/~ T AifEq €ide S AW W 30,000/ BB e
At FIE @ F5® 1,00,000/- 531 5 F31 7,000/ - 56 W ab ey e
Fgeiffe et 2 3,000/ 51 7S | SIAAR O (ORISRl 2o (51 speet
Si% 5Ff® (AR J6d 2Raed) ¢ (v 6,000/- 5 f; wHeamt 10,000/ - SoR
3 200/ - 58 ST 247 A7 3,000/ - B 2t et 24, 2w Rt 4,000 /-
g9 SiE Seme A 2,000/ - THE I (R

rmifE BiweteE 2[99 =arg ey w4
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OR/ 723!

Explain the terms : 21/2+2Y2=5

2 ARG 4 8
(i) Cash equivalents
(F19l% FATGETS)

(i) .Cash flows
(F9 2IR)

14. Mention any five objectives of Ratio Analysis.
oS Resem Rl Aipo! o T 1|
OR/ 2

Calculate current assets of a company from the following information :5

FrafiRe O o[l @Bl @R piEre AR Al 4 ¢

Stock turnover ratio = 4 times

(GOANT RS TS = 4 )
Stock at the end is 20,000/~ more than the stock at the beginning,.

(GAT T A AR SRS TSI ARSI 20,000/ B (R1)
Gales Z 3,00,000/- and gross profit ratio is 20% of Sales.

(e 3,00,000/- T W 9 ARSI TIA A 20%) |

Current liabilities = 40,000/ -

(5eif® CRPTRE 40,000/ 5<l)

Quick ratio = 0‘-75

(g oS = 075)

9
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OR/ 23t

Explain the terms : 2Yo+22=5

2N AR T 8
(i) Cash equivalents
(S5 ATGeTy)

(ii) _Cash flows
(F9m 2[€1%)

14. Mention any five objectives of Ratio Analysis.

SIS R Riceica #isor Sy Srand <o |
OR/ %!
Calculate current assets of a company from the following information :5

[T O A9 9Bl (@A bfere AR 519 9 ¢

Stock turnover ratio = 4 times

(TSN SRS S = 4 J[)
Stock at the end is 2 20,000/- more than the stock at the beginning.

(IR TGS Al AR S TGesAE SRS 20,000/- 5 @)
Sales % 3,00,000/- and gross profit ratio is 20% of Sales.

(B 3,00,000/- 5 IE I AST A [ 20%) |

Current liabilities = Z 40,000/ - '

(peif® (FAPTE 40,000/~ B1)

Quick ratio = O‘-75

(gR® TAT® = 075)

9
28T ACOU (91 Contd.



15.  Shyam, Gagan and Ram are partners sharing profits in the ratio of 2:2:1.
On 315t March, 2017, their Balance Sheet was as follows :

(g7, ol S A 2:2:1 SAATCS FS A6d S UM | 31 Ao 2017 ©iffds

Balance Sheet (¥%9€?@)

Liabilities (C71) ®) Assets (7€) ®)
Sundry Creditors 50,000 Cash (?{ﬁ'ﬁ&j?{) 5,000
&R ~eame |

5 Debtors (M=) 20,000
Reserve (71&) 10,000 _
Capital : Stock (VTS 44]) 25,000
Cagh Machinery (I&IifS) 20,000
Shyam : 20,000/-
Gagan : 10,000/- Buildings (®<+) 30,000
Ram : 10,000/- 40,000
1,00,000 | 1,00,000

Gagan retired on that date and Shyam and Ram agreed to share future
profits in the ratio 5:3.

519l ©F IfFdS TEE 11 SiE A % A0 SREe 5:3 SEeliee 59
. B :3 TEEOT Fi©

Stock, Machinery and Buildings were revalued at 2 20,000/-, 2 15,000/-
and ¥ 45,000/~ respectively. 000/-, 000/

STl TS Wi S T 20,000/~ B, 15,000/ - Tl S 45,000/ -
TS AFREIEe el 2 | A ;

Prepare.Reva]uation Account and Partners’ Capital Account. 2Y0+21/p=5

orrgemiEel fRoiel O SR e Ryl des w4
OR/ A1l

Prepare the new format of the Balance Sheet of a company with the maj
headings only. ]Oé

e JAFTOR TR G2 IR Sqenian Tom WRED! ops o



16. Mohit, Shohan and Rahul were partners sharing profits in the ratio of
2:2:1. Their Balance Sheet as on 31st March, 2017 was as follows :

s, TR I A 2:2:1 TAOS Y T =R oA 31 W6 2017 SIS
oS Sgeda were TR wi et ¢

‘Balance Sheet (Tgeria)

Liabilities ) ®) Assets (7€) )
Capital : Fixed Assets 60,000
(FFTe) ¢ (Zr TATe)

Mohit : 30,000/-

Shohan : 20,000/~ Stock (S1g@?14N) 10,000

Rahul - _29_’.0_0_% ‘ e Sundry Debtors 20,000

’ (GEERLGIGE)
General Reserve 5,000
(e “Afer) Cash at Bank 10,000
Creditors 25000| (S T &)
Gicals), s .2 SN
1,00,000 1,00,000

g TR

Shohan died on June 30, 2

017. It was agreed between the remaining

parmers and his executors that :

20

174 30 GTS CIRIE T &1 (9
o 7 @

&1 el i SRE FETHR TR e

Goodwill will be valued at 2 50,000/ -.

a FAE TV 50,000/ - 531 & 79|

(ii) Interest oD capital be provided at 10% p.a.
S oS 7O TR T 10% € 29

(il profit for the year 2(17-18 be taken .as having accrued at the same
rate as that of the previous year which was 2 40,000/-.
0(17-18 T Goe T RS 24 3 @ 2R AW A e

40,000/ - 51

beed Contd.
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(tv) The amount due to Shohan shall be transferred to his Executors’

Loan Account.

G el iR 067 Seaifr@T 4 Rolsie Zmies a1 25|

Prepare Shohan’s Capital Account as on the date of his death. 5

GRS TS OIS (997 Joga 2o

oS 4 |

OR / ¥zt

What is Partnership Deed ? Mention any three distinctions between Fixed
and Fluctuating Capital Accounts of partners.

WWW%WSW\W%WW%ﬂWEWWW%ﬂ
TS A Rirpizal oAb wief Sramd w4t |

256=5

17 SONU and ASHU were partners sharing profits in the ratio of 3:1. Their
Balance Sheet as on 315t March, 2017 was as' follows :

b SE 1% 3:1 SRy#iiee e Kogd SR S aifes | 2017 5@ 31 06 Sl

(OETERT Wﬂa oo RIq wed wiife 2
Balance Sheet (\35' )
Liabilities (¢7el) ®) Assets (F7IT) RER
Creditors (#ileqmi) 10,000 Cash at Bank 20,000
Loan (34) 20,000| (@E© TEl)
Capital : Sundry Assets 70’000
(JETA) 2 (R TiTa)
SONU = 50,000/- Profit and Loss Account 40,000
ASHU = 50,000/- 1,00,000| (cire-(SITB f2pieY)
1,30,000 st
]’301000
-'—-__'_'_'——.
. — L T
[12]

28T ACOU



The firm was dissolved on the above date. The assets were realised at
50,000/ -. Creditors were paid at a discount of 20%. SONU agreed to pay
off the Loan. Realisation ex]ﬁenses were 2 2,000/-. Prepare Realisation

Account, Bank Account and Partners Capital Account. 5

@AR0E Oifie fSHINGR SRR 906 | FferEe e S/ 50,000/ - 55 QwE
CART 975 | AT FFTF 20% ATMS ARCANG T4 2511 SONU-H el AR
e TS T | MRS <476 C2=e 2,000/ - 531 | Sivra<sae fZ5i9l, (<3 Zpiet
Wi SN WIS T 2515 2w 4 |

OR/ #/Z31

What do you mean by Dissolution of a Partnership ? State tiree grounds

for Dissolution of Partnership. 2+3=5

Gemia] AR I & ey sefmE) AR foRer #Rfef S |

Explain the terms ‘Over-subscription” and ‘Under-subscription” of Shares.
2Y5+215=5

18.

ST TS’ O TS A 4 |
OR/ #iZdt

What is a ‘Preference Share’ ? Mention the different types of Preference

Shares. 435

i SA e & ge? SelfgE vieiees [fen ek Sae

4|

28T ACOU [13] ‘ Contd



19. Following is the Trial Balance of RAM and SHYAM as on 315t March, 2017 :
31 75, 2017 SRS I 9 <5< T8 Femetas e R i@ o s

Dr. Trial Balance (%@ fSEw-21q) Cr.
Particulars ([5g59) €3) Particulars (R3a9) ®)
Plant and Machinery 10,000 Capital Accounts :
Freight on Sales 3,000 RAM = 36,000
R wfeazn <= b
Publicity 2000 SHYAM = 40,000
Land and Buildings 50,000 | Trading Account :
oSl I 2 3 @ oo
Sundry Debtors 10,000 | —Gross Profit 60,000
R o=mE I e
Bad debt 2,000 |
q e Creditors 12,000
Cash at Bank 15,000 | ~eswig
(RPO A 9% 4=
Investments 8,000 | Bank Loan 8,000
ez @ A
Cash in hand 1,000
oe AT T 4o Bills. payable b,OOO
Salaries 12,000 fr=reta R :
LB
Rent 8,000
S]]
Stock 25,000
S[ES 26y
Drawings :
e ¢
RAM = 6,000
057
SHYAM = 10,000
#rs il 6 000
1 1,62,000 %
—————— thth%
28T ACOU [14]




Prepare a Profit and Loss Account and the Profit and Loss Appropriation
Account of the firm for the year ended 315 March, 2017 and a Balance
Sheet as on that date, after taking into consideration the following

additional information : 8
woTs Tl feRe warg Repal S 31 315, 2017 SiRNS S@s[) TR AR
- GARFSIT 2517l e FS-(ARDIA SAEEH Z5l7l 3% T& wifies efSomoi
Tge7q Ao 4 8
(i) Outstanding Salaries % 3,000/ -
(i) Ram will get a Commission of 2 10,000/ - fof the YCal'.

I AEBE A 10,000/ - 5 T AR

50. Hunda Limited issued 10,000 equity shares of 100 each payable as follows :
2 20/- on application
Z 30/- on allotment
Z 20/- on first call

Z 30/- on second and final call.

10,000 shares were applied for and allotted. All money due was received
with the exception of both the calls on 300 shares held by SUPRIYA. These

shares were forfeited. Give necessary journal entries. 8

) FRCE0E 10,000 51 100/ Gt ARz were fral et Shreien 31 K
FE 8

v 20/ - 5 |

oS 30/~ 5 |

siere Wi 20/- 5 |

et S pUid weRe 30/- 5F |
10,000 DI SIRA#ER A0 S s{j3 SIRFOA Bl 2 | FERE A 24 300 B
e 4 A eI ARIRE MR My e a3

wesielad Al SRRy
o g T | SR S 2l

Rl

28T ACOU [15] )



OR/ 7z

Write short notes on : . 2%x4=8

o3 (Bl =R 2

(1) Re-issue of forfeited shares
AEAY TR PG 2=

(i1) Calls in Arrears

I woE] g

(i1i) Calls in Advance
G woiql el

(iv) Reserve Capital.

TR SE |

21. X Ltd. issued 5,000, 16% debentures of  100/- each at a discount of 5%

repayable after 5 years at a premium of 5%.

You are required to pass necessary journal entries and show the “Loss on

Issue of Debentures Account” over the period of five years, 8

31 FAfTSTS 5 e o 5% wikgRs ARCILCIY 5,000 B 100/- 5y 6%
Heiofa 5%m@f@ﬁfﬁﬁﬁm|uﬁm®awmﬁmW“wmﬁ%@m
who f2pi9” 26 a2/ AR Tl |

OR/ A
What is meant by a debenture ? Explain the different types of debentur
entures.
2+6-_:8
ojeig it & garte ffen afla deieras g o

28T ACOU |16]



22. A and B are partners sharing profits in the ratio of 3:2. Their Balance Sheet
as on 318t March, 2017 was as follows :
A SIF B 3:2 SO0 &S 64 FE SAME | 31 A5, 2017 O (9SS
Tgesia oo AN qi Wi 8

Balance Sheet

(Tgeria)
Liabilities (C7el) ®) Assets (F°[@) &)
Sundry Creditors 20,000 | Cash in hand 3,000
ey “AlemIS Qo9 AF 5 &
Capital : Sundry Debtors 12,000
T ¢ Rt G
A = 30,000/- ‘5
B = 20,000/- R 13400
50,000 | TEO7D
Furniture 10,000
MIPEIE)
Machinery 30,000
LS
70,000 70,000
R s ——

C was admitted as a new partner on the following terms and conditions:

e Al BEACATE C-=F g Sk o1t ©fS 341 2

(i)

28T ACOU

C will bring 2 15,000/~ for capital and 2 5,000/~ for his share of

Goodwill for 1/6 th share in the future profits.

C-@ (967 TR A 15,000/ - T FF TSI 1/6 S*R A 061 A1

5,000,/ - Gl 910K |

[17]
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(i)  The value of stock to be reduced by % 2,000/~ and that of Machinery
be increased by 2 8,000/-.
TGN I 2,000/~ B 2 #i S T@eiifen 77 8,000/~ T 3
24|

(i1i)) The value of furniture to be fixed at 3 9,000/ -.

SIBARE I+ 9,000/ - 5F© %1 w41 27|

Pass journal entries in the books of the firm and prepare the Balance Sheet

of the new firm. 8
Waﬁsmﬁﬁmwmﬁmﬁ%v@ 2IFS T4 |
OR/ 731

Give journal entries on dissolution of a Partnership firm in respect of the
following : 1x8=8
ORI AT SRR S e Rl SRR A i 2R i o

(i)  For transfer of assets.
TG FNE AR |
(i1) For sale of assets.
e fie 2@ |
(iii) If any partner takes over any asset.

I ST T a5e e |

28T ACOU [18]



(iv) For payment of liabilities.
el AR AR

(v) For payment of Realisation Expenses.
MIFFER 396 ARG AR |

(vi) For realisation of unrecorded assets.

o 7a TS TR A& |

(vii) For transfer of the balance of General Reserve Account.
At S i I Tges ZTE AE |

(viii) For payment of Partner’s Loan.

S 7 a9l 39 AReieE I

48T ACOU [19]



